fmmm AT B S AN EX

EE: 2F , #£4%5%: C10, {Zi&: P001-1 [C:0,Y4:0] R~ : 50 cm * 50 cm , #£1&: 360.0 cm
FHEFE:
#8 EFH(FE148- LB &) EFH+0EEMIFE = (360+35.57)*12/100 = 47.47 M
SESETE:
HERE (S )= (50+50)*2-8*4+2*13.89=195.8
#4 T 5B 2= Int(((360-60)/2)/10.0)+1=16
ET##E K= 195.816/100=31.32 M
#4 7R R FE B B= Int(((360-60)/2)/10.0)+1=16
PR fEM K= 195.8*16/100=31.32 M
#4 H\E-BZEH R E=(Int(60/10)+1)*195.8/100=13.70 M
REHFE
XK ERE (S A= (50-2* [{REB14+2*[180E E#7]14.9)2=143.4
Y(EE)ERE(HFAE)= (50-2* [{REE14+2*[180E & #1]14.9)2=143.4
#4 F T IR B 2= Int(((360-60)/2)/10.0)+1=16
L+ TFisfR=(143.4+143.4)*16/100=45.9 M
#47h SR B 2= Int(((360-60)/2)/10.0)+1=16
ARG R= (143.4+143.4)*16/100=45.9 M
#4 BREFRE= (143.4+143.4)*Int(60/10)/100= 17.21 M
EARETE:
F AR (50+50)*2*360/10000=7.20 M2
BRI IR
%:1i8:-(B8) 30*60/10000=0.18
%5:2i2:-(G4) 30*60/10000=0.18
%:3i8:-(B9) 30*60/10000=0.18
LA E/NET:0.54 M2
FERRIE AR AR I BR:
%5:1i2:20.00*20/10000=0.0400
%:2i8:20.00*20/10000=0.0400
%5:3i2:20.00*20/10000=0.0400
LA _E/NEF:0.1200 M2
A AR AR R
E S 1(BRK)-:B9=20%(360-60)/10000=0.60
TEE S 2(BRE)-:B8=20%(360-60)/10000=0.60
LA E/NER1.20 M2
*‘éﬁ%&;ﬁ:7.20-[&&2&&]0.54-[&&&%?%]0.12-[&sﬂ%n .20=5.34 M2
RCE &
50*50*360/1000000= 0.900 M3

#8=47.468 M (47.468 M*3.980/1000= 0.1889 T)
A /NE =0.3732 T
H&hR/NET = 5.34 M2
SR /NET = 0.900 M3
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